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Overdispersiir - Overdispersion parameter estimate :
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If we want to test LRT comparing two models :
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Model Selection - Goodness of Fit -

Residual deviance - shows up
:

① Analysis of deviance test : Ho : Modelo
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df = null df - resid df
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③ Goodness- of - fit test : Ho : our model

Goal : large p-value Ha : poker model
banished meet )

→ No evidence the perfect model
is better than ours
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Test statistic = Residual deviance Ñ ✗Yn - p)
very limited situations



(a) grouped binomial data > s obs
. in

each group

(b) Poisson data wl relatively large ( > s )
cents for each Curonian pattern

→ continuous predictor → cord.

not met


